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Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10

T Pz PR T fRl

(a) John Rawls is a liberalist / neo- -
liberalist / neo-realist thinker.

( Choose the correct answer )

A 9] 8w TARORM [/ A-SHRerm /
T-3maaf foufim |

(= Teo AR Tfaea )

22A/44 { Turn QOver )



(c)

(d)

22A/44

(2)

(b) Who amongst the following is the writer

of the book, Politics Among Nations : The
Struggle for Power and Peace?

Politics Among Nations : The Struggle
Jor Power and Peace %39 (4 541
Ffafest 2
(i) E. H. Carr

2. 9. IA
() Kenneth Waltz

(RTAY ST
(@) Hans J. Morgenthau

ZTh (&, qoofqY’
(iv) Francis Fukuyama

FIfoR g3

( Choose the correct answer )

( 0% TaCH Mk Sorear )

In which year did the Cuban Missile
Crisis begin?

feam faezer sead afomr wmg cafe 2

Name one signatory country of the
Warsaw Pact beside Soviet Union.

( Continued )

(e

(@)

)

@
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(3)

Where did the first NAM Summit held?
NAM 3 4293 Ffaa 38 7% 2

SEATO was formed in the year 1946 /
1947 / 1948 / 1954.
( Choose the correct answer )

SEATO >»8% / 33831 [/ 338%» /
s5@8 5O 5o 1 (32 |

(o= Tero! % e )

Adolf Hitler pioneered the Fascist
Movement in Italy.
( Write True or False )

qog Bhea IWEare (FoIl WrwERd 4TS
PR |
(wa & o= o)

In which year did the Soviet Union
collapse and separate into a number of
different countries?

fFam e fSrt Whe s R RFEw
T B w1 2R 2

Who instituted the reforms of ‘Glasnost’
and ‘Perestroika’ in Soviet Union?
@fsat Wfwmes @Erm Ty
‘(AR e R 2

( Turm Over )
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(4)

() Council of Westphalia was by nature
a/an Strategic alliance / International
treaty / Peace treaty / Defence treaty.

( Choose the correct answer )

FFETTONR STRBCFIer “Ifdgn KA (Frersrs
@ ) SRREy e / R e/ TeRe
e

( ®7 TeachT AR Bferea )

2. Answer the following questions : 2x5=10

TeTS fraT opqrAee Teq o

(a) Mention any two consequences of the
Treaty of Westphalia in regard to
International Relations.

WEEAEE AEASA  offRcefres  SREFEREE
R RN 161 Fomreen By 41 1

(b) Write any two reasons of the rise of
NIEO after the World War II.

% Regae Pree NIEO T b Resicn o1
IR for |

() What do you mean by the term “Third
World’?

TR fr’ 3 B o

( Continued )

(5)

(d) Name any two regional organizations.

R 761 el Mo 1S 5 0

fe) Mention any two challenges of post-Cold
War Russia.

ASTR TCHY 41 |

3. Answer any four of the following questions :
5x4=20
oS faul enpTgE R iRt e o

(a) Discuss the significance of the feminist
approach in the study of International

Relations.
ABAET AENE SyEEs TR gRSIR
Sl STEA 31 |

(b) Write a note on the causes of
disintegration of Soviet Union.

RS TR oo aIR IRPR e°Re
«af6 GBr forem 1

(c) Write about the key features of Marxian
Approach to International Relations.

TEAgn TEARE Wy @ W
CaREPTR fore |
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(d)

(e)

(6)

Discuss briefly on the concept of
Neo-liberalism in International

Relations.

A EAfee w-TreerT REE e
TS 47 |

Write a note on the features of the Third

World.
<5 fees cafiER eoe «fb R s

Mention the causes responsible for the

emergence of alternative power centres

in post-Cold War period.
Sroa Tad 3 TS ey =fecsBR TR

FRPTZ SCEY F

4. Answer the following questions :

e R erpgEe T fo
(a) Explain the various phases of
emergence  of International  State
system. 10
oAl @ aewe Sy Rfem IR
=1 241 |
Or / AT
Discuss the nature and subject-matter
of the study of International Relations.
4+6=10
wmaAlE AGANS  HGIT e W T
famgapTaz R ¥4 |
( Continued )

22A/44

22A/44

(7)

(b) Explain M
orgenthau’s six princi
. . - pnnm
pf:)htxcal realism. How is Neo- i:s -
different from realism? e,
TORYY IRART IR s e aman
WIW—WWWW%%?ﬂ

Or / 1331

Di
Il’lltsecuss. the stages of development of
: .matlonal Relations as an i
discipline. aeademic
SR R o BT TSI I

SIAIECH
QIR SICEABAT 347 |

(c) What is C
old War? .
of Cold War. plain the phases

3+7=
Tt g7 1 2 Frowy T2l O A 3941 |
Or / %31
Discuss about the causes and

6¢4=

10

10

10

consequences of the World War II. 5+5=10

ON R PR WF FeweT sy
390 & TR

(d) Discuss the features of Third World

Countries.
10
PO P4 (PR CIRMERTYR Wems 9
( Tum Over )
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